
 1.06
27

 

 3.18
80.8

  2.23
56.6

 

 .90
22.8

 

 1.15
29.2

 

 3.27
83.2

 

A

A

B B

 .126
3.2

 x .228
5.8

 DEEP (2X)

ACCEPTS M3.5 x 6mm LG.
OR #6 x 1/4" LG.
SELF-TAPPING SCREW
(NOT SUPPLIED - FOR PCB
MOUNTING)

 .12
3

 

 .35
8.8

 

.13
3.2 .67

17
 

.10
2.5

SECTION A-A

3.07
77.9

.18 (2X)
4.5

.90
22.8

2.23
56.7

 .95
24.1

 

R.34
8.6

 TYP.
 .27

6.8
  .27

6.8
 

GASKET (NOT INSTALLED)
MOLDED SILICONE GRAY

 1.41
35.8

 

 3.53
89.7

 

 1.06
27

 

 3.18
80.8

 

.13
3.2

 1.18
30

 

.20
5

 COVER

 .97
24.6

 

 .09
2.4

 

SECTION B-B

BODY
COVER NOT SHOWN

OPTIONAL INTERNAL PANEL AND
SUGGESTED PC BOARD LAYOUT

OPTIONAL ACCESSORIES:
  PCB MOUNTING KIT #57-58
  INTERNAL PANEL #ANX-91300
  WALL MOUNT BRACKETS #ANX-1390
  REPLACEMENT GASKET #1300GSKTSC

MATERIAL: ALUMINUM ALLOY #ADC-12

FINISH: NATURAL (SUFFIX -A)
            SMOOTH BLACK POWDERCOAT (SUFFIX -AB)

FOUR (4) M3x0.5 x 10mm (.39") LG. 90  CSK. HEAD
       STAINLESS STEEL SCREWS SUPPLIED FOR ASSEMBLY
       OF COVER TO BODY. APPLY AT 12 IN./LB. OF
       TORQUE.

OUTSIDE AND INSIDE DRAFT ANGLE: 1
DIMENSIONS ARE INCH[MM]

UPDATE REPLACES PART NO. AN-1300 (NATURAL) & AN-1300-G (DISCONTINUED GRAY) DRAWING FOR REFERENCE
WE RESERVE THE RIGHT TO MAKE CHANGES TO OUR

STANDARD PRODUCTS. PLEASE CONSULT WITH BUD INDUSTRIES
PRIOR TO USING THIS DRAWING FOR DESIGN PURPOSE.

UL LISTED FOR U.S. AND CANADA - FILE #E194432

TYPE RATING 4, 4X, 6, 6P, 12 AND 13, COMPARE TO IP-68

80 C. MAXIMUM OPERATING TEMPERATURE

9-30-15NEMA DIE CAST ALUMINUM ENCLOSURE AN-1300-APART
NAME

PART
No.

REVISION
DATEAN-1300-AB&



1.57
40

1.26
32

 1.99
50.6

 

 2.24
57

 

 1.32
33.5

 

 .93
23.5

 

 1.32
33.5

 

 .93
23.5

 

A

A

B B

 .93
23.5

  x .272
6.9

DEEP (2X)

ACCEPTS M3.5 x 6mm LG.
OR #6 x 1/4" LG.
SELF-TAPPING SCREW
(NOT SUPPLIED - FOR PCB
MOUNTING)

.10
2.5

 .27
6.9

 

SECTION A-A

2.13
54

.69
17.6

1.13
28.7

.177 (2X)
4.5

1.57
40

1.26
32

R.27

TYP.
6.8

1.87
47.6

1.23
31.3

.30
7.7

 .34
8.6

 

GASKET (NOT INSTALLED)
MOLDED SILICONE GRAY

 1.18
30

  1.38
35

 

.20
5

 COVER
 .10

2.5
 

SECTION B-B

 2.28
58

 

 2.52
64

 

 1.80
45.7

 

 1.34
34

 

.177
4.5

 (2X)

OPTIONAL INTERNAL PANEL AND
SUGGESTED PC BOARD LAYOUT

BODY
COVER NOT SHOWN

MATERIAL: BODY & COVER - ALUMINUM ALLOY #ADC-12

FINISH: NATURAL (SUFFIX -A)
            SMOOTH BLACK POWDERCOAT (SUFFIX -AB)

FOUR (4) M4x0.7 x 20mm (.79") LG. 90  CSK. HEAD
       STAINLESS STEEL SCREWS SUPPLIED FOR ASSEMBLY
       OF COVER TO BODY. APPLY AT 12 IN./LB. OF
       TORQUE.

OUTSIDE AND INSIDE DRAFT ANGLE: 1
DIMENSIONS ARE INCH[MM]

UL LISTED FOR U.S. AND CANADA - FILE #E194432

TYPE RATING 4, 4X, 6, 6P, 12 AND 13, COMPARE TO IP-68

80 C. MAXIMUM OPERATING TEMPERATURE

UPDATE REPLACES PART NO. AN-1301 (NATURAL) & AN-1301-G (DISCONTINUED GRAY)

OPTIONAL ACCESSORIES:
  PCB MOUNTING KIT #57-58
  INTERNAL PANEL #ANX-91301
  WALL MOUNT BRACKETS #ANX-1390
  REPLACEMENT GASKET #1301GSKTSC

DRAWING FOR REFERENCE
WE RESERVE THE RIGHT TO MAKE CHANGES TO OUR

STANDARD PRODUCTS. PLEASE CONSULT WITH BUD INDUSTRIES
PRIOR TO USING THIS DRAWING FOR DESIGN PURPOSE.

9-30-15NEMA DIE CAST ALUMINUM ENCLOSURE AN-1301-APART
NAME

PART
No.

REVISION
DATEAN-1301-AB&



 1.14
29

 

 1.14
29

 

 3.07
78

 

 1.89
48

 

 1.54
39

 

 2.67
67.7

  4.29
109.1

 

 2.32
59.1

 

A

A

BB

0.125  x  0.350  DEEP (2X)

ACCEPTS M3.5 x 6mm LG.
OR #6 x 1/4" LG.
SELF-TAPPING SCREW
(NOT SUPPLIED - FOR PCB
MOUNTING)

 .39
10

 

 .10
2.5

 

SECTION A-A

 4.06
103

 

 2.09
53

 

 3.07
78

 

R.35
8.8

R.34
8.7

R.09
2.3

 .68
17.2

 

 .35
8.9

 

 3.35
85.2

  3.35
85.2

 

R.34
8.7

R.35
8.8

 .35
8.9

 

GASKET 
(NOT 
INSTALLED)
MOLDED SILICONE 
GRAY

 .98
25

 

 1.18
30

 

.20
5

 COVER

 .10
2.5

 

SECTION B-B

 2.58
65.5

 

 4.53
115

 

 1.39
35.4

 

 4.06
103

 

.18
4.5

OPTIONAL INTERNAL PANEL AND
SUGGESTED PC BOARD LAYOUT

BODY
COVER NOT SHOWN

MATERIAL: BODY & COVER - ALUMINUM ALLOY #ADC-12

FINISH: NATURAL (SUFFIX -A)
            SMOOTH BLACK POWDERCOAT (SUFFIX -AB)

FOUR (4) M4x0.7 x 20mm (.79") LG. 90  CSK. HEAD
       STAINLESS STEEL SCREWS SUPPLIED FOR ASSEMBLY
       OF COVER TO BODY. APPLY AT 12 IN./LB. OF
       TORQUE.

OUTSIDE AND INSIDE DRAFT ANGLE: 1
DIMENSIONS ARE INCH[MM]

UL LISTED FOR U.S. AND CANADA - FILE #E194432

TYPE RATING 4, 4X, 6, 6P, 12 AND 13, COMPARE TO IP-68

80 C. MAXIMUM OPERATING TEMPERATURE

UPDATE REPLACES PART NO. AN-1302 (NATURAL) & AN-1302-G (DISCONTINUEDGRAY)

OPTIONAL ACCESSORIES:
  PCB MOUNTING KIT #57-58
  INTERNAL PANEL #ANX-91302
  WALL MOUNT BRACKETS #ANX-1390
  REPLACEMENT GASKET #1301GSKTSC

DRAWING FOR REFERENCE
WE RESERVE THE RIGHT TO MAKE CHANGES TO OUR

STANDARD PRODUCTS. PLEASE CONSULT WITH BUD INDUSTRIES
PRIOR TO USING THIS DRAWING FOR DESIGN PURPOSE.

[3.2] [8.9]

9-30-15NEMA DIE CAST ALUMINUM ENCLOSURE AN-1302-APART
NAME

PART
No.

REVISION
DATEAN-1302-AB&



 2.542
64.58

  3.071
78

 

 2.349
59.65

 

 4.293
109.05

 

 3.071
78

 

 1.515
38.48

 

 2.621
66.58

 

A

A

B
B

.125  x  .350  DEEP (4X)

ACCEPTS M3.5 x 6mm LG.
OR #6 x 1/4" LG.
SELF-TAPPING SCREW
(NOT SUPPLIED - FOR PCB
MOUNTING)

 .492
12.50

 

 .098
2.50

 

 1.142
29

 

 1.142
29

 

SECTION A-A

 4.055
103

 

 2.087
53

 

 3.071
78

 

R.346
8.80

R.343
8.70

R.089
2.25

 .676
17.18

 

 .350
8.88

 

 3.355
85.22

  3.355
85.22

 

R.346
8.80

GASKET 
(NOT 
INSTALLED)
MOLDED 
SILICONE 
GRAY

 1.969
50

 

 2.165
55

 
.197

5
 COVER

 .098
2.50

 

SECTION B-B

 2.579
65.50

 

 4.528
115

 

 1.394
35.40

 

 4.047
102.80

 

.177
4.50

 (2X)

OPTIONAL INTERNAL PANEL AND
SUGGESTED PC BOARD LAYOUT

BODY
COVER NOT SHOWN

MATERIAL: BODY & COVER - ALUMINUM ALLOY #ADC-12

FINISH: NATURAL (SUFFIX -A)
            SMOOTH BLACK POWDERCOAT (SUFFIX -AB)

FOUR (4) M4x0.7 x 20mm (.79") LG. 90 CSK. HEAD
       STAINLESS STEEL SCREWS SUPPLIED FOR ASSEMBLY
       OF COVER TO BODY. APPLY AT 12 IN./LB. OF
       TORQUE.

OUTSIDE AND INSIDE DRAFT ANGLE: 1
DIMENSIONS ARE INCH[MM]

UL LISTED FOR U.S. AND CANADA - FILE #E194432

TYPE RATING 4, 4X, 6, 6P, 12 AND 13, COMPARE TO IP-68

80 C. MAXIMUM OPERATING TEMPERATURE

UPDATE REPLACES PART NO. AN-1303 (NATURAL) & AN-1303-G (DISCONTINUED GRAY)

OPTIONAL ACCESSORIES:
  PCB MOUNTING KIT #57-58
  INTERNAL PANEL #ANX-91302
  WALL MOUNT BRACKETS #ANX-1390
  REPLACEMENT GASKET #1303GSKTSC

DRAWING FOR REFERENCE
WE RESERVE THE RIGHT TO MAKE CHANGES TO OUR

STANDARD PRODUCTS. PLEASE CONSULT WITH BUD INDUSTRIES
PRIOR TO USING THIS DRAWING FOR DESIGN PURPOSE.

[3.2] [8.9]

9-30-15NEMA DIE CAST ALUMINUM ENCLOSURE AN-1303-APART
NAME

PART
No.

REVISION
DATEAN-1303-AB&



 4.528
115

  3.031
77

 

 3.232
82.10

 

 4.224
107.30

 

 2.835
72

 

 2.685
68.20

 

 2.510
63.76

 

A

A

B B

0.125  x  0.350  DEEP (4X)

ACCEPTS M3.5 x 6mm LG.
OR #6 x 1/4" LG.
SELF-TAPPING SCREW
(NOT SUPPLIED - FOR PCB
MOUNTING)

 1.966
49.95

 

 .457
11.60

 

 .098
2.50

  1.142
29

 

 1.142
29

 

SECTION A-A

 4.043
102.70

  3.031
77

 

 3.051
77.50

 

 1.985
50.42

 
 .716

18.18
 

 2.335
59.32

 R.291
7.40

R.386
9.80

R.089
2.25R.291

7.40

 3.654
92.80

 

GASKET 
(NOT 
INSTALLED)
MOLDED 
SILICONE 
GRAY

 1.969
50

 

 2.165
55

 

.197
5

 COVER
 .098

2.50
 

SECTION B-B

 3.543
90

 

 4.528
115

 

 2.362
60

 

 4.055
103

 

.177
4.50

OPTIONAL INTERNAL PANEL AND
SUGGESTED PC BOARD LAYOUT

BODY
COVER NOT SHOWN

MATERIAL: BODY & COVER - ALUMINUM ALLOY #ADC-12

FINISH: NATURAL (SUFFIX -A)
            SMOOTH BLACK POWDER-
              COATED (SUFFIX -AB)

FOUR (4) M4x0.7 x 20mm (.79") LG. 90  CSK. HEAD
       STAINLESS STEEL SCREWS SUPPLIED FOR ASSEMBLY
       OF COVER TO BODY. APPLY AT 12 IN./LB. OF
       TORQUE.

OUTSIDE AND INSIDE DRAFT ANGLE: 1
DIMENSIONS ARE INCH[MM]

UL LISTED FOR U.S. AND CANADA - FILE #E194432

TYPE RATING 4, 4X, 6, 6P, 12 AND 13, COMPARE TO IP-68

80 C. MAXIMUM OPERATING TEMPERATURE

UPDATE REPLACES PART NO. AN-1304 (NATURAL) & AN-1304-G (DISCONTINUED GRAY)

OPTIONAL ACCESSORIES:
  PCB MOUNTING KIT #57-58
  INTERNAL PANEL #ANX-91304
  WALL MOUNT BRACKETS #ANX-1390
  REPLACEMENT GASKET #1304GSKTSC

DRAWING FOR REFERENCE
WE RESERVE THE RIGHT TO MAKE CHANGES TO OUR

STANDARD PRODUCTS. PLEASE CONSULT WITH BUD INDUSTRIES
PRIOR TO USING THIS DRAWING FOR DESIGN PURPOSE.

[3.2] [8.9]

9-30-15NEMA DIE CAST ALUMINUM ENCLOSURE AN-1304-APART
NAME

PART
No.

REVISION
DATEAN-1304-AB&



 3.99
101.4

 

 3.95
100.2

 

 5.52
140.1

  4.33
110

 

 3.54
90

 

 3.24
82.4

 

B B

A

A

.126
3.2

 x  .394
10

 DEEP (4X)

ACCEPTS M3.5 x 6mm LG.
OR #6 x 1/4" LG.
SELF-TAPPING SCREW
(NOT SUPPLIED - FOR PCB
MOUNTING)

 5.37
136.4

 

 .61
15.5

  2.81
71.4

 
R.32
8.2

R.32
8.2

 3.54
90

 

 4.33
110

 

 .37
9.4

 

 3.79
96.3

 

R.32
8.2

 .37
9.4

 

GASKET 
(NOT INSTALLED)
MOLDED 
SILICONE GRAY

 2.95
75

 

.39
10

 COVER

 2.76
70

 

 .10
2.5

 

SECTION B-B

 .29
7.3

 

 .10
2.5

  1.19
30.1

 

 1.19
30.1

 

SECTION A-A

 4.25
108

 

 5.83
148

 

 3.04
77.3

 

 5.25
133.3

 

.18
4.5

OPTIONAL INTERNAL PANEL AND
SUGGESTED PC BOARD LAYOUT

BODY
COVER NOT SHOWN

MATERIAL: BODY & COVER - ALUMINUM ALLOY #ADC-12

FINISH: NATURAL (SUFFIX -A)
            SMOOTH BLACK POWDERCOAT (SUFFIX -AB)

FOUR (4) M4x0.7 x 20mm (.79") LG. 90  CSK. HEAD
       STAINLESS STEEL SCREWS SUPPLIED FOR ASSEMBLY
       OF COVER TO BODY. APPLY AT 12 IN./LB. OF
       TORQUE.

OUTSIDE AND INSIDE DRAFT ANGLE: 1
DIMENSIONS ARE INCH[MM]

UL LISTED FOR U.S. AND CANADA - FILE #E194432

TYPE RATING 4, 4X, 6, 6P, 12 AND 13, COMPARE TO IP-68

80 C. MAXIMUM OPERATING TEMPERATURE

UPDATE REPLACES PART NO. AN-1305 (NATURAL) & AN-1305-G (DISCONTINUED GRAY)

OPTIONAL ACCESSORIES:
  PCB MOUNTING KIT #57-58
  INTERNAL PANEL #ANX-91305 
  WALL MOUNT BRACKETS #ANX-1390
  REPLACEMENT GASKET #1305GSKTSC

DRAWING FOR REFERENCE
WE RESERVE THE RIGHT TO MAKE CHANGES TO OUR

STANDARD PRODUCTS. PLEASE CONSULT WITH BUD INDUSTRIES
PRIOR TO USING THIS DRAWING FOR DESIGN PURPOSE.

9-30-15NEMA DIE CAST ALUMINUM ENCLOSURE AN-1305-APART
NAME

PART
No.

REVISION
DATEAN-1305-AB&



 6.73
170.9

  4.88
124

 

 4.40
111.8

 

 6.41
162.9

 

 3.68
93.5

 

 4.05
102.9

 

 5.27
133.8

 

BB

A

A

.126
3.2

  x .402
10.2

 DEEP (4X)

ACCEPTS M3.5 x 6mm LG.
OR #6 x 1/4" LG.
SELF-TAPPING SCREW
(NOT SUPPLIED - FOR PCB
MOUNTING)

 6.23
158.3

 

 4.26
108.3

 

R.38
9.7

 3.12
79.2

 

 5.27
133.8

 

R.089
2.3

 (4X)

R.32
8.2

R.32
8.2

 4.05
102.9

 

GASKET 
(NOT INSTALLED)
MOLDED 
SILICONE GRAY

 1.94
49.2

  2.17
55

 

.39
10

 COVER .10
2.5

 

SECTION B-B

 .39
10

 

 .13
3.3

 

SECTION A-A
.177

4.5

 6.09
154.8

 

 3.55
90.1

 

 4.76
120.9

 

 6.73
170.9

 

OPTIONAL INTERNAL PANEL AND
SUGGESTED PC BOARD LAYOUT

MATERIAL: BODY & COVER - ALUMINUM ALLOY #ADC-12

FINISH: NATURAL (SUFFIX -A)
            SMOOTH BLACK POWDERCOAT (SUFFIX -AB)

SIX (6) M4x0.7 x 20mm (.79") LG. 90  CSK. HEAD
       STAINLESS STEEL SCREWS SUPPLIED FOR ASSEMBLY
       OF COVER TO BODY. APPLY AT 12 IN./LB. OF
       TORQUE.

OUTSIDE AND INSIDE DRAFT ANGLE: 1
DIMENSIONS ARE INCH[MM]

UL LISTED FOR U.S. AND CANADA - FILE #E194432

TYPE RATING 4, 4X, 6, 6P, 12 AND 13, COMPARE TO IP-68

80 C. MAXIMUM OPERATING TEMPERATURE

UPDATE REPLACES PART NO. AN-1306 (NATURAL) & AN-1306-G (DISCONTINUED GRAY)

OPTIONAL ACCESSORIES:
  PCB MOUNTING KIT #57-58
  INTERNAL PANEL #ANX-91306 
  WALL MOUNT BRACKETS #ANX-1390
  REPLACEMENT GASKET #1306GSKTSC

DRAWING FOR REFERENCE
WE RESERVE THE RIGHT TO MAKE CHANGES TO OUR

STANDARD PRODUCTS. PLEASE CONSULT WITH BUD INDUSTRIES
PRIOR TO USING THIS DRAWING FOR DESIGN PURPOSE.

BODY
COVER NOT SHOWN

9-30-15NEMA DIE CAST ALUMINUM ENCLOSURE AN-1306-APART
NAME

PART
No.

REVISION
DATEAN-1306-AB&



 7.27
184.6

  7.06
179.3

 

 4.75
120.7

 

 5.04
128

 

 5.45
138.4

 

 8.47
215.2

 

A

A

B B

.126
3.2

 x  .394
10

 DEEP (4X)

ACCEPTS M3.5 x 6mm LG.
OR #6 x 1/4" LG.
SELF-TAPPING SCREW
(NOT SUPPLIED - FOR PCB
MOUNTING)

 8.30
210.8

 

 5.30
134.5

 

 .37
9.5

 

 4.50
114.2

 

 4.15
105.4

 
 .52

13.1
 

R.39
9.8

R.37
9.4

R.39
9.8

R.35
9

GASKET (NOT INSTALLED)
MOLDED SILICONE GRAY

 .39
10

 

 .13
3.3

 
 4.36

110.8
 

SECTION A-A
.18

4.5

 8.76
222.5

 

 5.75
146

 

 4.58
116.3

 

 8.29
210.6

 

 1.94
49.2

 

 2.17
55

 

.20
5

 COVER .10
2.5

 

 1.43
36.3

  1.43
36.3

 

SECTION B-B

OPTIONAL INTERNAL PANEL AND
SUGGESTED PC BOARD LAYOUT

BODY
COVER NOT SHOWN

MATERIAL: BODY & COVER - ALUMINUM ALLOY #ADC-12

FINISH: NATURAL (SUFFIX -A)
            SMOOTH BLACK POWDERCOAT (SUFFIX -AB)

SIX (6) M4x0.7 x 20mm (.79") LG. 90 CSK. HEAD
       STAINLESS STEEL SCREWS SUPPLIED FOR ASSEMBLY
       OF COVER TO BODY. APPLY AT 12 IN./LB. OF
       TORQUE.

OUTSIDE AND INSIDE DRAFT ANGLE: 1
DIMENSIONS ARE INCH[MM]

UL LISTED FOR U.S. AND CANADA - FILE #E194432

TYPE RATING 4, 4X, 6, 6P, 12 AND 13, COMPARE TO IP-68

80 C. MAXIMUM OPERATING TEMPERATURE

UPDATE REPLACES PART NO. AN-1307 (NATURAL) & AN-1307-G (DISCONTINUED GRAY)

OPTIONAL ACCESSORIES:
  PCB MOUNTING KIT #57-58
  INTERNAL PANEL #ANX-91307
  WALL MOUNTING BRACKETS #ANX-1390
  REPLACEMENT GASKET #1307GSKTSC

DRAWING FOR REFERENCE
WE RESERVE THE RIGHT TO MAKE CHANGES TO OUR

STANDARD PRODUCTS. PLEASE CONSULT WITH BUD INDUSTRIES
PRIOR TO USING THIS DRAWING FOR DESIGN PURPOSE.

9-30-15NEMA DIE CAST ALUMINUM ENCLOSURE AN-1307-APART
NAME

PART
No.

REVISION
DATEAN-1307-AB&



 7.27
184.6

  7.06
179.3

 

 4.75
120.7

 

 5.04
128

 

 5.45
138.4

 

 8.47
215.2

 

A

A

B B

.126
3.2

 x  .394
10

 DEEP (4X)

ACCEPTS M3.5 x 6mm LG.
OR #6 x 1/4" LG.
SELF-TAPPING SCREW
(NOT SUPPLIED - FOR PCB
MOUNTING)

 8.30
210.8

 

 5.30
134.5

 

 .37
9.5

 

 4.50
114.2

 

 4.15
105.4

 
 .52

13.1
 

R.39
9.8

R.37
9.4

R.39
9.8

R.35
9

 .40
10.2

 

 .40
10.2

 

GASKET 
(NOT INSTALLED)
MOLDED 
SILICONE GRAY .39

10
 

 .13
3.3

 
 4.36

110.8
 

SECTION A-A
.18

4.5

 8.76
222.5

 

 5.75
146

 

 4.58
116.3

 

 8.29
210.6

 

 3.24
82.3

 

 3.01
76.5

 

1.27
32.3

 COVER .10
2.5

 

 1.43
36.3

  1.43
36.3

 

SECTION B-B

OPTIONAL INTERNAL PANEL AND
SUGGESTED PC BOARD LAYOUT

BODY
COVER NOT SHOWN

MATERIAL: BODY & COVER - ALUMINUM ALLOY #ADC-12

FINISH: NATURAL (SUFFIX -A)
            SMOOTH BLACK POWDERCOAT (SUFFIX -AB)

SIX (6) M4x0.7 x 20mm (.79") LG. 90 CSK. HEAD
       STAINLESS STEEL SCREWS SUPPLIED FOR ASSEMBLY
       OF COVER TO BODY. APPLY AT 12 IN./LB. OF
       TORQUE.

OUTSIDE AND INSIDE DRAFT ANGLE: 1
DIMENSIONS ARE INCH[MM]

UL LISTED FOR U.S. AND CANADA - FILE #E194432

TYPE RATING 4, 4X, 6, 6P, 12 AND 13, COMPARE TO IP-68

80 C. MAXIMUM OPERATING TEMPERATURE

UPDATE REPLACES PART NO. AN-1308 (NATURAL) & AN-1308-G (DISCONTINUED GRAY)

OPTIONAL ACCESSORIES:
  PCB MOUNTING KIT #57-58
  INTERNAL PANEL #ANX-91307
  WALL MOUNTING BRACKETS #ANX-1390
  REPLACEMENT GASKET #1308GSKTSC

DRAWING FOR REFERENCE
WE RESERVE THE RIGHT TO MAKE CHANGES TO OUR

STANDARD PRODUCTS. PLEASE CONSULT WITH BUD INDUSTRIES
PRIOR TO USING THIS DRAWING FOR DESIGN PURPOSE.

9-30-15NEMA DIE CAST ALUM. ENCLOSURE AN-1308-APART
NAME

PART
No.

REVISION
DATEAN-1308-AB&



 4.32
109.7

 

 4.29
109

 

 3.41
86.5

 

 2.40
61

 

 2.91
74

 
 2.91

74
 

 3.24
82.3

 

 3.24
82.3

 

A

A

B B

.126
3.2

 x  .394
10

 DEEP (4X)

ACCEPTS M3.5 x 6mm LG.
OR #6 x 1/4" LG.
SELF-TAPPING SCREW
(NOT SUPPLIED - FOR PCB
MOUNTING)

 4.02
102.2

 

 4.02
102.2

  3.72
94.5

 

 2.72
69.1

 

R.50
12.8

R.50
12.8

 .51
12.9

 

 .51
12.9

 

.18
4.5

 4X .87
22.1

 

 .50
12.8

 

 .65
16.6

 

 .15
3.9

 

GASKET 
(NOT INSTALLED)
MOLDED 
SILICONE GRAY .41

10.5
 

 .08
2

 

 1.12
28.5

 

 1.12
28.5

 

SECTION A-A

 4.74
120.5

 

 4.74
120.5

 

 4.02
102

 

 3.31
84

 

.18
4.5

 2X

 3.99
101.3

 

.80
20.3

 COVER

 3.82
97

 

 .09
2.3

 
 1.12

28.5
 

 1.12
28.5

 

SECTION B-B

OPTIONAL INTERNAL PANEL AND
SUGGESTED PC BOARD LAYOUT

BODY
COVER NOT SHOWN

MATERIAL: BODY & COVER - ALUMINUM ALLOY #ADC-12

FINISH: NATURAL (SUFFIX -A)
            SMOOTH BLACK POWDERCOAT (SUFFIX -AB)

FOUR (4) M4x0.7 x 32mm (1.26") LG. 90 CSK. HEAD
       STAINLESS STEEL SCREWS SUPPLIED FOR ASSEMBLY
       OF COVER TO BODY. APPLY AT 12 IN./LB. OF
       TORQUE.

OUTSIDE AND INSIDE DRAFT ANGLE: 2
DIMENSIONS ARE INCH[MM]

UL LISTED FOR U.S. AND CANADA - FILE #E194432

TYPE RATING 4, 4X, 6, 6P, 12 AND 13, COMPARE TO IP-68

80 C. MAXIMUM OPERATING TEMPERATURE

UPDATE REPLACES PART NO. AN-1309(NATURAL) & AN-1309-G (DISCONTINUED GRAY)

OPTIONAL ACCESSORIES:
  PCB MOUNTING KIT #57-58
  INTERNAL PANEL #ANX-91309
  WALL MOUNTING BRACKETS #ANX-1390
  REPLACEMENT GASKET #1309GSKTSC

DRAWING FOR REFERENCE
WE RESERVE THE RIGHT TO MAKE CHANGES TO OUR

STANDARD PRODUCTS. PLEASE CONSULT WITH BUD INDUSTRIES
PRIOR TO USING THIS DRAWING FOR DESIGN PURPOSE.

9-30-15NEMA DIE CAST ALUM. ENCLOSURE AN-1309-APART
NAME

PART
No.

REVISION
DATEAN-1309-AB&



 5.22
132.7

  4.91
124.7

 

 3.98
101

 

 4.29
109

 

 5.94
150.8

 

 5.94
150.8

 

 4.79
121.7

 

 4.41
112

 

A

A

B B

.126
3.2

 x  .394
10

 DEEP (4X)

ACCEPTS M3.5 x 6mm LG.
OR #6 x 1/4" LG.
SELF-TAPPING SCREW
(NOT SUPPLIED - FOR PCB
MOUNTING)

 5.52
140.3

 

 5.52
140.3

 

R.43
10.8

R.43
10.8

.18
4.5

 4X

 .47
12

 
 4.28

108.7
 

 5.22
132.7

 

 .47
12

 

 .83
21.1

 

 .48
12.2

 

GASKET 
(NOT 
INSTALLED)
MOLDED 
SILICONE GRAY

 .41
10.5

 

 .08
2

 

 1.87
47.5

 

 1.87
47.5

 

SECTION A-A

 6.24
158.6

 

 6.25
158.6

 

 5.51
140

 

 4.82
122.5

 

.18
4.5

 2X

 3.82
97

 
.80
20.3

 COVER

 .09
2.3

  1.87
47.5

  1.87
47.5

 

 3.99
101.3

 

SECTION B-B OPTIONAL INTERNAL PANEL AND
SUGGESTED PC BOARD LAYOUT

BODY
COVER NOT SHOWN

MATERIAL: BODY & COVER - ALUMINUM ALLOY #ADC-12

FINISH: NATURAL (SUFFIX -A)
            SMOOTH BLACK POWDERCOAT (SUFFIX -AB)

FOUR (4) M4x0.7 x 32mm (1.26") LG. 90 CSK. HEAD
       STAINLESS STEEL SCREWS SUPPLIED FOR ASSEMBLY
       OF COVER TO BODY. APPLY AT 12 IN./LB. OF
       TORQUE.

OUTSIDE AND INSIDE DRAFT ANGLE: 2
DIMENSIONS ARE INCH[MM]

UL LISTED FOR U.S. AND CANADA - FILE #E194432

TYPE RATING 4, 4X, 6, 6P, 12 AND 13, COMPARE TO IP-68

80 C. MAXIMUM OPERATING TEMPERATURE

UPDATE REPLACES PART NO. AN-1310(NATURAL) & AN-1310-G (DISCONTINUED GRAY)

OPTIONAL ACCESSORIES:
  PCB MOUNTING KIT #57-58
  INTERNAL PANEL #ANX-91310
  WALL MOUNTING BRACKETS #ANX-1390
  REPLACEMENT GASKET #1310GSKTSC

DRAWING FOR REFERENCE
WE RESERVE THE RIGHT TO MAKE CHANGES TO OUR

STANDARD PRODUCTS. PLEASE CONSULT WITH BUD INDUSTRIES
PRIOR TO USING THIS DRAWING FOR DESIGN PURPOSE.

9-30-15NEMA DIE CAST ALUM. ENCLOSURE AN-1310-APART
NAME

PART
No.

REVISION
DATEAN-1310-AB&



 .26
6.6

 

 .52
13.3

 

 .98
24.8

 

 1.17
29.8

 

 .98
25

 

 .71
18.1

 

 .40
10.1

 

 .40
10.1

 

 1.74
44.2

 

 1.54
39.2

 

A

A

B B

.126
3.2

 x  .394
10

 DEEP (1X)

ACCEPTS M3.5 x 6mm LG.
OR #6 x 1/4" LG.
SELF-TAPPING SCREW
(NOT SUPPLIED - FOR PCB
MOUNTING)

 1.50
38.1

 

 1.70
43.1

 

R.23
5.8

R.23
5.8

 .29
7.3

 

 .29
7.3

 

R.09
2.3

 .13
3.2

 

 .39
9.9

 

R.06
1.5

 TYP.

 .93
23.5

 

GASKET 
(NOT 
INSTALLED)
MOLDED 
SILICONE GRAY

 .39
10

 

 .12
3

 

SECTION A-A

 1.58
40.2

 

 1.39
35.2

 

.18
4.5

 2X

 1.77
45

 

 1.97
50

 

 .98
25

  1.18
30

 

.24
6

 COVER  .08
2

 

SECTION B-B
OPTIONAL INTERNAL PANEL AND
SUGGESTED PC BOARD LAYOUT

BODY
COVER NOT SHOWN

MATERIAL: BODY & COVER - ALUMINUM ALLOY #ADC-12

FINISH: NATURAL (SUFFIX -A)
            SMOOTH BLACK POWDERCOAT (SUFFIX -AB)

FOUR (4) M4x0.7 x 20mm (.79") LG. 90 CSK. HEAD
       STAINLESS STEEL SCREWS SUPPLIED FOR ASSEMBLY
       OF COVER TO BODY. APPLY AT 12 IN./LB. OF
       TORQUE.

OUTSIDE AND INSIDE DRAFT ANGLE: 1
DIMENSIONS ARE INCH[MM]

UL LISTED FOR U.S. AND CANADA - FILE #E194432

TYPE RATING 4, 4X, 6, 6P, 12 AND 13, COMPARE TO IP-68

80 C. MAXIMUM OPERATING TEMPERATURE

UPDATE REPLACES PART NO. AN-1311(NATURAL) & AN-1311-G (DISCONTINUED GRAY)

OPTIONAL ACCESSORIES:
  PCB MOUNTING KIT #57-58
  INTERNAL PANEL #ANX-91311
  WALL MOUNTING BRACKETS #ANX-1390
  REPLACEMENT GASKET #1311GSKTSC

DRAWING FOR REFERENCE
WE RESERVE THE RIGHT TO MAKE CHANGES TO OUR

STANDARD PRODUCTS. PLEASE CONSULT WITH BUD INDUSTRIES
PRIOR TO USING THIS DRAWING FOR DESIGN PURPOSE.

9-30-15NEMA DIE CAST ALUM. ENCLOSURE AN-1311-APART
NAME

PART
No.

REVISION
DATEAN-1311-AB&



 3.15
80

 

 1.25
31.8

 

 2.25
57.1

 

 3.59
91.1

  2.87
72.9

 

 .93
23.6

 

 2.87
72.9

 

 .35
9

 
 .50

12.7
 A

A

B B

.126
3.2

 x  .394
10

 DEEP (2X)

ACCEPTS M3.5 x 6mm LG.
OR #6 x 1/4" LG.
SELF-TAPPING SCREW
(NOT SUPPLIED - FOR PCB
MOUNTING)

 3.50
88.9

 

 2.16
54.9

 

 .35
9

 

 .35
9

 

 3.15
80.1

 

 1.26
32

 
.18

4.5
 2X

R.28
7.2

 .67
16.9

 
 .33

8.5
 

 .33
8.5

 

 .45
11.5

 

 .17
4.4

 
R.28
7.2

GASKET (NOT INSTALLED)
MOLDED SILICONE GRAY

 .41
10.5

 

 .11
2.8

 

SECTION A-A

 2.52
64

 

 3.86
98

 

 1.42
36

 

 3.39
86

 

.18
4.5

 2X

 1.34
34

 

.35
9

 COVER 1.13
28.6

 

 .10
2.6

 

SECTION B-B
OPTIONAL INTERNAL PANEL AND
SUGGESTED PC BOARD LAYOUT

BODY
COVER NOT SHOWN

MATERIAL: BODY & COVER - ALUMINUM ALLOY #ADC-12

FINISH: NATURAL (SUFFIX -A)
            SMOOTH BLACK POWDERCOAT (SUFFIX -AB)

FOUR (4) M4x0.7 x 20mm (.79") LG. 90 CSK. HEAD
       STAINLESS STEEL SCREWS SUPPLIED FOR ASSEMBLY
       OF COVER TO BODY. APPLY AT 12 IN./LB. OF
       TORQUE.

OUTSIDE AND INSIDE DRAFT ANGLE: 1
DIMENSIONS ARE INCH[MM]

UL LISTED FOR U.S. AND CANADA - FILE #E194432

TYPE RATING 4, 4X, 6, 6P, 12 AND 13, COMPARE TO IP-68

80 C. MAXIMUM OPERATING TEMPERATURE

UPDATE REPLACES PART NO. AN-1312 (NATURAL) & AN-1312-G (DISCONTINUED GRAY)

OPTIONAL ACCESSORIES:
  PCB MOUNTING KIT #57-58
  INTERNAL PANEL #ANX-91312
  WALL MOUNTING BRACKETS #ANX-1390
  REPLACEMENT GASKET #1312GSKTSC

DRAWING FOR REFERENCE
WE RESERVE THE RIGHT TO MAKE CHANGES TO OUR

STANDARD PRODUCTS. PLEASE CONSULT WITH BUD INDUSTRIES
PRIOR TO USING THIS DRAWING FOR DESIGN PURPOSE.

9-30-15NEMA DIE CAST ALUM. ENCLOSURE AN-1312-APART
NAME

PART
No.

REVISION
DATEAN-1312-AB&



 4.57
116.2

 

 2.81
71.3

 

4.17
106

 TYP.

 1.18
30

 

 .35
9

 

 .35
9

 

 1.18
30

 

 .63
15.9

 

 .63
15.9

 

 3.82
97.1

 

 1.92
48.7

 

A

A

B B

.126
3.2

 x .240 DEEP (6X)

ACCEPTS M3.5 x 6mm LG.
OR #6 x 1/4" LG.
SELF-TAPPING SCREW
(NOT SUPPLIED - FOR PCB
MOUNTING)

 2.72
69.1

 

 4.48
113.8

 

 1.19
30.1

 

 4.18
106.1

 

 .32
8.1

  .64
16.2

 R.24
6.1

R.24
6.1

R.26
6.7

.18
4.5

 2X

 .64
16.2

 

 .77
19.5

 

 .15
3.9

 

GASKET 
(NOT INSTALLED)
MOLDED 
SILICONE GRAY

 .24
6

 

 .12
3

 

SECTION A-A

 3.14
79.8

 

 4.90
124.5

 

 2.03
51.6

 

 4.43
112.5

 

.18
4.5

 2X

 1.57
40

 

.59
15

 COVER

 1.36
34.5

 

 .10
2.5

 

SECTION B-B
OPTIONAL INTERNAL PANEL AND
SUGGESTED PC BOARD LAYOUT

BODY
COVER NOT SHOWN

MATERIAL: BODY & COVER - ALUMINUM ALLOY #ADC-12

FINISH: NATURAL (SUFFIX -A)
            SMOOTH BLACK POWDERCOAT (SUFFIX -AB)

FOUR (4) M4x0.7 x 25mm (98") LG. 90 CSK. HEAD
       STAINLESS STEEL SCREWS SUPPLIED FOR ASSEMBLY
       OF COVER TO BODY. APPLY AT 12 IN./LB. OF
       TORQUE.

OUTSIDE AND INSIDE DRAFT ANGLE: 1
DIMENSIONS ARE INCH[MM]

UL LISTED FOR U.S. AND CANADA - FILE #E194432

TYPE RATING 4, 4X, 6, 6P, 12 AND 13, COMPARE TO IP-68

80 C. MAXIMUM OPERATING TEMPERATURE

UPDATE REPLACES PART NO. AN-1313 (NATURAL) & AN-1313-G (DISCONTINUED GRAY)

OPTIONAL ACCESSORIES:
  PCB MOUNTING KIT #57-58
  INTERNAL PANEL #ANX-91313
  WALL MOUNTING BRACKETS #ANX-1390
  REPLACEMENT GASKET #1313GSKTSC

DRAWING FOR REFERENCE
WE RESERVE THE RIGHT TO MAKE CHANGES TO OUR

STANDARD PRODUCTS. PLEASE CONSULT WITH BUD INDUSTRIES
PRIOR TO USING THIS DRAWING FOR DESIGN PURPOSE.

[6.0]

9-30-15NEMA DIE CAST ALUM. ENCLOSURE AN-1313-APART
NAME

PART
No.

REVISION
DATEAN-1313-AB&



 4.57
116.2

 

 2.81
71.3

 

4.17
106

 TYP.

 1.18
30

 

 .35
9

 

 .35
9

 

 1.18
30

 

 .63
15.9

 

 .63
15.9

 

 3.82
97.1

 

 1.92
48.7

 

A

A

B B

.126
3.2

 x .240 DEEP (6X)

ACCEPTS M3.5 x 6mm LG.
OR #6 x 1/4" LG.
SELF-TAPPING SCREW
(NOT SUPPLIED - FOR PCB
MOUNTING)

 2.72
69.1

 

 4.48
113.8

 

 1.19
30.1

 

 4.18
106.1

 

 .32
8.1

  .64
16.2

 R.24
6.1

R.24
6.1

R.26
6.7

.18
4.5

 2X

 .64
16.2

 

 .77
19.5

 

 .15
3.9

 

GASKET 
(NOT INSTALLED)
MOLDED 
SILICONE GRAY

 .24
6

 

 .12
3

 

SECTION A-A

 2.03
51.6

 

 4.43
112.5

 

 3.14
79.8

 

 4.90
124.5

 

.18
4.5

 2X

 2.24
57

 

.59
15

 COVER

 2.03
51.5

 

 .10
2.5

 

SECTION B-B OPTIONAL INTERNAL PANEL AND
SUGGESTED PC BOARD LAYOUT

BODY
COVER NOT SHOWN

MATERIAL: BODY & COVER - ALUMINUM ALLOY #ADC-12

FINISH: NATURAL (SUFFIX -A)
            SMOOTH BLACK POWDERCOAT (SUFFIX -AB)

FOUR (4) M4x0.7 x 25mm (.98") LG. 90 CSK. HEAD
       STAINLESS STEEL SCREWS SUPPLIED FOR ASSEMBLY
       OF COVER TO BODY. APPLY AT 12 IN./LB. OF
       TORQUE.

OUTSIDE AND INSIDE DRAFT ANGLE: 1
DIMENSIONS ARE INCH[MM]

UL LISTED FOR U.S. AND CANADA - FILE #E194432

TYPE RATING 4, 4X, 6, 6P, 12 AND 13, COMPARE TO IP-68

80 C. MAXIMUM OPERATING TEMPERATURE

UPDATE REPLACES PART NO. AN-1314 (NATURAL) & AN-1314-G (DISCONTINUED GRAY)

OPTIONAL ACCESSORIES:
  PCB MOUNTING KIT #57-58
  INTERNAL PANEL #ANX-91313
  WALL MOUNTING BRACKETS #ANX-1390
  REPLACEMENT GASKET #1314GSKTSC

DRAWING FOR REFERENCE
WE RESERVE THE RIGHT TO MAKE CHANGES TO OUR

STANDARD PRODUCTS. PLEASE CONSULT WITH BUD INDUSTRIES
PRIOR TO USING THIS DRAWING FOR DESIGN PURPOSE.

[6.0]

9-30-15NEMA DIE CAST ALUM. ENCLOSURE AN-1314-APART
NAME

PART
No.

REVISION
DATEAN-1314-AB&



 5.24
133

 

 1.28
32.4

 

 5.58
141.7

 

 2.19
55.7

 

 4.90
124.6

 

 .95
24.2

 

 1.22
31

 

 4.90
124.6

 

A

A

B B

.126
3.2

 x .390 DEEP (2X)

ACCEPTS M3.5 x 6mm LG.
OR #6 x 1/4" LG.
SELF-TAPPING SCREW
(NOT SUPPLIED - FOR PCB
MOUNTING)

 2.15
54.5

 

 5.53
140.5

 
 1.28

32.5
 

 5.24
133

 

 .33
8.4

  .63
16.1

 
R.28
7.2

R.28
7.2

R.27
6.8

 .63
16.1

 

 .43
11

 

 .15
3.8

 

R.09
2.3

 .33
8.4

 

GASKET 
(NOT INSTALLED)
MOLDED 
SILICONE GRAY

 .16
4

 

 .39
10

 

SECTION A-A

 2.52
64

 

 5.91
150

  1.41
35.8

  5.39
137

 

.18
4.5

 2X

 1.12
28.5

 

 .16
4

 

 1.44
36.5

 

.39
10

 COVER

SECTION B-B OPTIONAL INTERNAL PANEL AND
SUGGESTED PC BOARD LAYOUT

BODY
COVER NOT SHOWN

MATERIAL: BODY & COVER - ALUMINUM ALLOY #ADC-12

FINISH: NATURAL (SUFFIX -A)
            SMOOTH BLACK POWDERCOAT (SUFFIX -AB)

FOUR (4) M4x0.7 x 20mm (.79") LG. 90 CSK. HEAD
       STAINLESS STEEL SCREWS SUPPLIED FOR ASSEMBLY
       OF COVER TO BODY. APPLY AT 12 IN./LB. OF
       TORQUE.

OUTSIDE AND INSIDE DRAFT ANGLE: 1
DIMENSIONS ARE INCH[MM]

UL LISTED FOR U.S. AND CANADA - FILE #E194432

TYPE RATING 4, 4X, 6, 6P, 12 AND 13, COMPARE TO IP-68

80 C. MAXIMUM OPERATING TEMPERATURE

UPDATE REPLACES PART NO. AN-1315 (NATURAL) & AN-1315-G (DISCONTINUED GRAY)

OPTIONAL ACCESSORIES:
  PCB MOUNTING KIT #57-58
  INTERNAL PANEL #ANX-91315
  WALL MOUNTING BRACKETS #ANX-1390
  REPLACEMENT GASKET #1315GSKTSC

DRAWING FOR REFERENCE
WE RESERVE THE RIGHT TO MAKE CHANGES TO OUR

STANDARD PRODUCTS. PLEASE CONSULT WITH BUD INDUSTRIES
PRIOR TO USING THIS DRAWING FOR DESIGN PURPOSE.

[9.9]

9-30-15NEMA DIE CAST ALUM. ENCLOSURE AN-1315-APART
NAME

PART
No.

REVISION
DATEAN-1315-AB&



 .83
21

 

 .83
21

 

 5.22
132.6

 

 1.13
28.8

 

 1.13
28.8

 

 3.57
90.6

 

 5.11
129.7

 

 5.51
140

 

 .83
21

 

 .83
21

 

 5.94
150.8

 

 2.08
52.7

 

A

A

B B

.126
3.2

 x .240 DEEP (6X)

ACCEPTS M3.5 x 6mm LG.
OR #6 x 1/4" LG.
SELF-TAPPING SCREW
(NOT SUPPLIED - FOR PCB
MOUNTING)

 5.79
147

 

 3.43
87

 

 1.71
43.5

 

 .31
8

 

 .31
8

 

 .14
3.5

 

 .14
3.5

 

R.26
6.7

 .77
19.5

 

 .77
19.5

 
R.09
2.3

 2X

R.26
6.7

GASKET 
(NOT INSTALLED)
MOLDED 
SILICONE GRAY

 .11
2.9

 

 .24
6.2

 

SECTION A-A

 2.60
66

 

 5.75
146

 

 3.92
99.5

 

 6.28
159.5

 

.18
4.5

 4X

 2.36
60

 

.79
20

 COVER

 2.13
54.1

 

 .12
3

 

SECTION B-B
OPTIONAL INTERNAL PANEL AND
SUGGESTED PC BOARD LAYOUT

BODY
COVER NOT SHOWN

MATERIAL: BODY & COVER - ALUMINUM ALLOY #ADC-12

FINISH: NATURAL (SUFFIX -A)
            SMOOTH BLACK POWDERCOAT (SUFFIX -AB)

FOUR (4) M4x0.7 x 30mm (1.18") LG. 90 CSK. HEAD
       STAINLESS STEEL SCREWS SUPPLIED FOR ASSEMBLY
       OF COVER TO BODY. APPLY AT 12 IN./LB. OF
       TORQUE.

OUTSIDE AND INSIDE DRAFT ANGLE: 1
DIMENSIONS ARE INCH[MM]

UL LISTED FOR U.S. AND CANADA - FILE #E194432

TYPE RATING 4, 4X, 6, 6P, 12 AND 13, COMPARE TO IP-68

80 C. MAXIMUM OPERATING TEMPERATURE

UPDATE REPLACES PART NO. AN-1316 (NATURAL) & AN-1316-G (DISCONTINUED GRAY)

OPTIONAL ACCESSORIES:
  PCB MOUNTING KIT #57-58
  INTERNAL PANEL #ANX-91316
  WALL MOUNTING BRACKETS #ANX-1390
  REPLACEMENT GASKET #1316GSKTSC

DRAWING FOR REFERENCE
WE RESERVE THE RIGHT TO MAKE CHANGES TO OUR

STANDARD PRODUCTS. PLEASE CONSULT WITH BUD INDUSTRIES
PRIOR TO USING THIS DRAWING FOR DESIGN PURPOSE.

[6.0]

9-30-15NEMA DIE CAST ALUM. ENCLOSURE AN-1316-APART
NAME

PART
No.

REVISION
DATEAN-1316-AB&



 .83
21

 

 .83
21

 

 5.22
132.6

 

 1.13
28.8

 

 1.13
28.8

 

 3.57
90.6

 

 5.11
129.7

 

 5.51
140

 

 .83
21

 

 .83
21

 

 5.94
150.8

 

 2.08
52.7

 

A

A

B B

.126
3.2

 x .240 DEEP (6X)

ACCEPTS M3.5 x 6mm LG.
OR #6 x 1/4" LG.
SELF-TAPPING SCREW
(NOT SUPPLIED - FOR PCB
MOUNTING)

 5.79
147

 

 3.43
87

 

 1.71
43.5

 

 .31
8

 

 .31
8

 

 .14
3.5

 

 .14
3.5

 

R.26
6.7

 .77
19.5

 

 .77
19.5

 
R.09
2.3

 2X

R.26
6.7

GASKET 
(NOT INSTALLED)
MOLDED 
SILICONE GRAY

 .11
2.9

 

 .24
6.2

 

SECTION A-A

 2.60
66

 

 5.75
146

 

 3.92
99.5

 

 6.28
159.5

 

.18
4.5

 4X

 .12
3

 

 2.96
75.1

 

.79
20

 COVER

 3.19
81

 

SECTION B-B
OPTIONAL INTERNAL PANEL AND
SUGGESTED PC BOARD LAYOUT

BODY
COVER NOT SHOWN

MATERIAL: BODY & COVER - ALUMINUM ALLOY #ADC-12

FINISH: NATURAL (SUFFIX -A)
            SMOOTH BLACK POWDERCOAT (SUFFIX -AB)

FOUR (4) M4x0.7 x 30mm (1.18") LG. 90 CSK. HEAD
       STAINLESS STEEL SCREWS SUPPLIED FOR ASSEMBLY
       OF COVER TO BODY. APPLY AT 12 IN./LB. OF
       TORQUE.

OUTSIDE AND INSIDE DRAFT ANGLE: 1
DIMENSIONS ARE INCH[MM]

UL LISTED FOR U.S. AND CANADA - FILE #E194432

TYPE RATING 4, 4X, 6, 6P, 12 AND 13, COMPARE TO IP-68

80 C. MAXIMUM OPERATING TEMPERATURE

UPDATE REPLACES PART NO. AN-1317 (NATURAL) & AN-1317-G (DISCONTINUED GRAY)

OPTIONAL ACCESSORIES:
  PCB MOUNTING KIT #57-58
  INTERNAL PANEL #ANX-91316
  WALL MOUNTING BRACKETS #ANX-1390
  REPLACEMENT GASKET #1317GSKTSC

DRAWING FOR REFERENCE
WE RESERVE THE RIGHT TO MAKE CHANGES TO OUR

STANDARD PRODUCTS. PLEASE CONSULT WITH BUD INDUSTRIES
PRIOR TO USING THIS DRAWING FOR DESIGN PURPOSE.

[6.0]

9-30-15NEMA DIE CAST ALUM. ENCLOSURE AN-1317-APART
NAME

PART
No.

REVISION
DATEAN-1317-AB&



 2.85
72.3

 

 2.66
67.5

 

 1.95
49.5

 

 1.86
47.2

 
 .59

15
 

 .94
24

 

 .94
24

 

 .59
15

 

2.20
56

 TYP.

 .62
15.8

 

 .62
15.8

 
A

A

B B

.126
3.2

 x .240 DEEP (6X)

ACCEPTS M3.5 x 6mm LG.
OR #6 x 1/4" LG.
SELF-TAPPING SCREW
(NOT SUPPLIED - FOR PCB
MOUNTING)

 2.50
63.6

 

 2.72
69

 

R.28
7.2

 .31
7.9

 

 .31
7.9

 

.18
4.5

 2X

 .34
8.6

 

 .63
15.9

 

 2.20
56

 
 1.18

30
 

R.28
7.2

 .34
8.6

 

GASKET 
(NOT 
INSTALLED)
MOLDED 
SILICONE GRAY

 .27
7

 

 .07
1.8

 

SECTION A-A

 2.94
74.6

 

 3.13
79.6

 

 2.46
62.6

 

 2.06
52.4

 

.189
4.8

 2X

 2.05
52

 
.47
12

 COVER
 1.91

48.4
 

 .07
1.8

 

SECTION B-B
OPTIONAL INTERNAL PANEL AND
SUGGESTED PC BOARD LAYOUT

BODY
COVER NOT SHOWN

MATERIAL: BODY & COVER - ALUMINUM ALLOY #ADC-12

FINISH: NATURAL (SUFFIX -A)
            SMOOTH BLACK POWDERCOAT (SUFFIX -AB)

FOUR (4) M4x0.7 x 20mm (.79") LG. 90 CSK. HEAD
       STAINLESS STEEL CAPTIVE SCREWS SUPPLIED FOR 
       ASSEMBLY OF COVER TO BODY. APPLY AT 12 IN./LB. 
       OF TORQUE.

OUTSIDE AND INSIDE DRAFT ANGLE: 1
DIMENSIONS ARE INCH[MM]

UL LISTED FOR U.S. AND CANADA - FILE #E194432

TYPE RATING 4, 4X, 6, 6P, 12 AND 13, COMPARE TO IP-68

80 C. MAXIMUM OPERATING TEMPERATURE

UPDATE REPLACES PART NO. AN-1319 (NATURAL) & AN-1319-G (DISCONTINUED GRAY)

OPTIONAL ACCESSORIES:
  PCB MOUNTING KIT #57-58
  INTERNAL PANEL #ANX-91319
  WALL MOUNTING BRACKETS #ANX-1390
  REPLACEMENT GASKET #1319GSKTSC

DRAWING FOR REFERENCE
WE RESERVE THE RIGHT TO MAKE CHANGES TO OUR

STANDARD PRODUCTS. PLEASE CONSULT WITH BUD INDUSTRIES
PRIOR TO USING THIS DRAWING FOR DESIGN PURPOSE.

[6.0]

9-30-15NEMA DIE CAST ALUMINUM ENCLOSURE AN-1319-APART
NAME

PART
No.

REVISION
DATEAN-1319-AB&



 1.80
45.8

 

 3.78
95.9

 

 3.31
84

 

 .94
24

 

 3.22
81.8

 

 1.26
31.9

 

A

A

B B

.126
3.2

 x .240 DEEP (2X)

ACCEPTS M3.5 x 6mm LG.
OR #6 x 1/4" LG.
SELF-TAPPING SCREW
(NOT SUPPLIED - FOR PCB
MOUNTING)  3.66

92.9
 

 1.69
42.9

 

.18
4.5

 2X

R.24
6.2

 TYP.

 3.31
84

 

 .94
24

 

 .28
7

 

 .28
7

 

 .28
7

 

GASKET 
(NOT 
INSTALLED)
MOLDED 
SILICONE GRAY

 .07
1.8

 

 .24
6

 

SECTION A-A

 2.07
52.5

 

 4.04
102.5

 

 1.00
25.5

 

.16
4

 COVER

 .87
22

 

 .07
1.8

 

SECTION B-B OPTIONAL INTERNAL PANEL AND
SUGGESTED PC BOARD LAYOUT

BODY
COVER NOT SHOWN

MATERIAL: BODY & COVER - ALUMINUM ALLOY #ADC-12

FINISH: NATURAL (SUFFIX -A)
            SMOOTH BLACK POWDERCOAT (SUFFIX -AB)

FOUR (4) M3x0.5 x 12mm (.47") LG. 90 CSK. HEAD
       STAINLESS STEEL CAPTIVE SCREWS SUPPLIED FOR 
      ASSEMBLY OF COVER TO BODY. APPLY AT 12 IN./LB. 
      OF TORQUE.

OUTSIDE AND INSIDE DRAFT ANGLE: 1
DIMENSIONS ARE INCH[MM]

UL LISTED FOR U.S. AND CANADA - FILE #E194432

TYPE RATING 4, 4X, 6, 6P, 12 AND 13, COMPARE TO IP-68

80 C. MAXIMUM OPERATING TEMPERATURE

UPDATE REPLACES PART NO. AN-1320 (NATURAL) & AN-1320-G (DISCONTINUED GRAY)

OPTIONAL ACCESSORIES:
  PCB MOUNTING KIT #57-58
  INTERNAL PANEL #ANX-91320
  WALL MOUNTING BRACKETS #ANX-1390
  REPLACEMENT GASKET #1320GSKTSC

DRAWING FOR REFERENCE
WE RESERVE THE RIGHT TO MAKE CHANGES TO OUR

STANDARD PRODUCTS. PLEASE CONSULT WITH BUD INDUSTRIES
PRIOR TO USING THIS DRAWING FOR DESIGN PURPOSE.

[6.0]

9-30-15NEMA DIE CAST ALUMINUM ENCLOSURE AN-1320-APART
NAME

PART
No.

REVISION
DATEAN-1320-AB&


